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Arbeiter →  
benötigte Arbeitszeit ? Tage 

Kühe →  
Futtervorrat reicht für ? Tage 

1 Arbeiter = 40 Tage  4 Kühe = 30 Tage 

5 Arbeiter = __________ Tage  8 Kühe = __________ Tage 

10 Arbeiter = __________ Tage  2 Kühe = __________ Tage 

20 Arbeiter = __________ Tage  24 Kühe = __________ Tage 

4 Arbeiter = __________ Tage  1 Kuh = __________ Tage 

2 Arbeiter = __________ Tage  10 Kühe = __________ Tage 

8 Arbeiter = __________ Tage  30 Kühe = __________ Tage 

 
 
Geschwindigkeit km/h 
→ benötigte Zeit  Pumpen -→ benötigte Zeit 

50 km/h = 60 min   4 Pumpen = 20 Stunden 

100 km/h = _________ min   1 Pumpe =  __________ Stunden 

25 km/h = _________ min   8 Pumpen =  __________ Stunden 

60 km/h = ___________ min  2 Pumpen =  __________ Stunden 

10 km/h = ___________ min  16 Pumpen =  __________ Stunden 

60 km/h = ___________ min  10 Pumpen =  __________ Stunden 

30 km/h = ___________ min  6 Pumpen =  __________ Stunden 
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